Mathematics 172
Quiz #15 Name: K—@ 4

You must show your work to get full credit.
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FIGURE 1

A species of weed has survival rates and per capata growth rates given by the
diagram above. Here NV; is the number of seeds, N, is the number of juveniles, and
N, the number of adults. If 10 of the seeds are blown into a yard,

(1) What is the Lefkovitch matrix?
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(2) How many one, two and three year olds are there after 20 years?
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(3) What is the stable age distribution (use ¢ = 20 years to compute this).
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percent of three year olds = zz¥=2




